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Passage ‘A’ and "B’ will be given. Each passage would have four questions .Each question
would be of 2marks.Each passage would be of 8 marks. ‘A" and "B’ would be of 16 marks.
Any three question will be given out of five questions from English Reader Book.It wouid be
of 9 marks. Each question would be of 3 marks.

It will be divided into two parts (A&B).In part -A four word/phrases out of 8 words/phrases
will be given to make sentences. In part-B fill in the blanks will be given. Part-A would be
of 4 marks and Part-B would be of 5 marks. Part- A and B would be of 9 marks.

it will be divided into two parts (A & B). In part -A one passage will be given from poetry. it
would be of 5 marks. Two questions will be given into it. Each question would be of 2.5
marks, In Part-B three questions wiil be given. Each question would be 2 marks. in Part -B
would be of 6 marks. Pa& {A) & (B} would be of 11 marks.

Do as directed (Tense, Articles, sentences, voice, adjectives, Gerunds, Number, conjugate
and Adverbs) from grammar. 9 questions will be given .Each question will be divided into
{A) and {B) parts .It would be of 20 marks.

One letter or application will be given. It would be of 8 marks.

One paragraph or dialogue writing will be given. It would be of 9 marks.

Three options will be given into it. Like (Notice, telegram, news-headlines). Students will

attempt any two questions. Each question would be of 4 marks. It would be of 8 marks.
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